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Topic:- General Knowledge and Logical Knowledge

& Complete the series choosing the missing letter/s: / ®vd HETY AR hl elch{
G &l T i
K I3 H
P T L
I I3 ?
1.D
2. M
3.0
4.P

Correct Answer :-

« D

2) If TEACHER is coded VGCEJGT, then how is PROBLEM coded? / Zlﬁ TEACHER ® VGCEJGT ¥

HifSd fo5aT ST 8, ¥ PROBLEM &1 &3l ST d fordT STRAT?
1. PTRDNGP
2. RTQDNGO
3. RTQENGO

4. RTPDNGP

Correct Answer :-

« RTQDNGO



How many numbers greater than 100 and less than 1000 be formed with the digits 9, 8, 7, 6, and 5 without

%%peﬁﬁous%':’/éiﬁ% 8,7, 6, YT 5 I foAT TR & 100 F 3MFRIF TUT 1000 W FY fha-1t w=me FAfa

1.72
2.24
3. 120

4. 60

Correct Answer :-

4) Jatin starts walking towards the east. After moving a distance of 20 metres, he turns to his left and walks 15
metres. Then he turns to his right and moves 25 metres. Next he turns to the right again and walks 15 metres.
How far is Jatin from the starting point? / ST R D1 R TG PICC G| 8207, Tﬁfgﬁ?ﬂ[ﬁﬂﬁ' % qTg,
g 913 3R TS S1dT 3 3R 15 HY. I 81 TP 916, T8 3 313 3R god1 8 3R 25 Y. Tadr 31 39& 916
a5 fire A 1S SR Gew 15 WL, Teran 8 1 Sfae Sy wua | faei g 32

1. 75 metres / 75 HIex
2. 25 metres /25 Hlex
3. 35 metres / 35 HieX

4, 45 metres / 45 Hiex

Correct Answer :-
e 45 metres / 45 HIeX

5) Which one of the national park is NOT located in Madhya Pradesh? / Fergiferd # | S9-a ?Tg]'q COIE]

A USRI H 7ot 87
1. Bannerghatta National Park / SPRE) Gl TI@H KOG
2. Van Vihar National Park / 99 ﬁ%ﬁ T@'q RUIGH

3. Bandhavgarh National Park / a‘fm ?TgTq REIE)

4, Kanha National Park / dI-8] ?T@'q RG]

Correct Answer :-

» Bannerghatta National Park / aawg ?T@"q 3l

6) Which of the following states has a Legislative Council? / Fr&iferd & 9 fovsy /s d faum avwg ﬁﬁj
87

©)



1. Uttar Pradesh / TR Uc¥l
2. Tamil Nadu / 0@ 1
3. West Bengal / CEEEIN]
4. Kerala / Pxd

Correct Answer :-

e Uttar Pradesh / 3TX ﬂé’-‘ZT

7) Veterinary Science University is located at / CARE k| qrsd Eﬁﬁ'ﬁ?ﬁ TR ¥ fRua %:
1. Seoni / TI3fIHT

2. Jabalpur / S[deiYR

3. Neemuch / =19

4. Mhow / /g1

Correct Answer :-

e Jabalpur / Sle[eTUR

8) When is the Indian Civil Service Day celebrated in India? / HIRd T YR ARTRS 41 g $9
I ST &2

1. 10% April / 10 30
2. 215 April / 21 30
3. 15™ April / 15 0@

4. 11™ April / 11 310

Correct Answer :-

o 215t April /21 310

9) What is the approximate length of ‘Chenani-Nashri Tunnel’? / I ITHI-ATRIRT L C4| Glﬁ'l:l'l'ﬁ?l darg
T2

1. 9 km /9 foHt
2. 13 km/ 13 fopet
3. 12 km/ 12 fopeit

4,19 km/ 19 fopHt



Correct Answer :-

« 9km/9 fHHT

10) Who has been appointed the Chairman of the Internet and Mobile Association of India? / Rﬁ'&' 3R

HiaTsd THIRIER AT §3a1 & Sreaes F w0 ¥ o Frgee forar man 82
1. Shubho Ray / HI X

2. Umang Bedi / SHT e

3. Rajan Anandan / IS 3{THa

4. Deepak Kalra / Ud BIeRT

Correct Answer :-

« Rajan Anandan / TSl 3HTHG

11) The term ‘under-cutting’ is associated with / Rleq '3ige-BpfeT ?{\‘Iﬁ Hefdd %
1. Cricket / fohdpe

2. Hockey / ﬁ

3. Football / Heaid
4. Tennis / Y

Correct Answer :-

e Hockey / %"hﬁ

12) India’s longest river bridge, Dhola Sadia, has been renamed as the . HIRd BT ?-Ia'\ﬁ GG T'FQPT
Ud, SIar 9iear, SIAHdea®d? @A gl

1, Bhupen Hazarika Bridge / 4O GoITRapT oot
2. Raman Deka Bridge / YHA ST foret
3. Gopinath Bordoloi Bridge / T ST el forof

4. Tarun Gogoi Bridge / d®UI T ‘“é forst

Correct Answer :-

« Bhupen Hazarika Bridge / U §SIIeT fasl

13) Who won the women's singles title at the Syed Modi International Badminton Championship 2017? /

g A SRS dSfiie AR 2017 & Afgen vea $1 faae e sitar?
(5)



1. P V Sindhu / U1 91 &Y

2. Jwala Gutta / STl I[ST

3. Ashwini Ponnappa / S T
4. Saina Nehwal / 1T ﬁ%fﬂa

Correct Answer :-

« PV Sindhu /U1 &t g

14) Who was the longest serving Chief Minister in India? / HRd T qad @9 9T 9P Jdl B a1

Bl i &2
1. Jayalalithaa / Sctferan
2. Jyoti Basu / it LS

3. Chandrababu Naidu / I&dTg TG
4. Narendra Modi / '_‘Q_S{ Iﬁa

Correct Answer :-

« Jyoti Basu / SO &Y

15) The State Sport of Madhya Pradesh is HY TJI%EZT g o | ?ﬁ@T % |
1. Sitoliya /Rraiferar
2. Malkhamb / HAGH

3. Kabbadi / hag]
4. Hockey / gﬁﬁ

Correct Answer :-

« Malkhamb / Held®

16) Abhinav Bharat’ was organized by / YT HR =1 & g1 SvfSa foar T 1-
1. Khudiram Bose / ’@,_Cﬁ?l'q CIk|

2. Bhai Parmanand / lﬂgw

3. None of these / E:I'ﬁ T ﬁé =|3°r

4. Vir Savarkar / IR GTaR&

Correct Answer :-



« Vir Savarkar / X JTaRHR

17) The Dronacharya award in 2016 was awarded to which one of the following personalities? / Frafafea

faaal | 1 {5 2016 § SIomard REBR §RT T [Bar 17 o412
1. P. Gopichand / CIRIIEH

2. Anil Kumble / 3¢ Sadt

3. Amir Khan / 3R @M

4. Mahavir Singh Phogat / TR Rig BiTe

Correct Answer :-

e Mahavir Singh Phogat / n%'laﬁ“\f @ITS' B

18) Name the first female Speaker of Lok Sabha? / A PIUT DI qﬂ?ﬁ II"%?IT SIHE BT ATH HIT %?
1. Sumitra Mahajan / E&HT HEoH

2. Indira Gandhi / $fe=T TiTeft

3. Sushma Swaraj / JHT RIS

4. Meira Kumar / HRT $HR

Correct Answer :-

« Meira Kumar / HRT $HR

19) Geographically, Madhya Pradesh is the largest state in the country. / urfere = u , 7 USRI
S BT ey ISISY 5

1. Third / IR
2. Second / G}
3. Fourth /T

4, Eight / 3{T&di

Correct Answer :-

e Second / g}

20) Complete the series choosing the missing number: / & H&IT gAG YT BT [T HITOIC:
1,2,3,6,9,18, , 54

1.36



2.27
3. 18

4.48

Correct Answer :-

« 27

21) Complete the series choosing the missing number: / & T&IT FAG YWl BI YT HIOIC:
3, 6,18, 72,

1.216

2. 360

3. 288

4. 144

Correct Answer :-

« 360

22) Complete the series choosing the missing number: / & &I ADHR YT DI GRT DIOIC:
4,5,9, 18, 34,

1. 50

2. 49

3.43

4. 59

Correct Answer :-

23) Select the option that is true about the Statements and Conclusions given:

Statements:
Some thieves are robbers
All burglars are robbers

Conclusions:
I. Some burglars are thieves
I1I. Some robbers are thieves



/ 39 faoreu &1 9= i siifes few e su=T ofik fAeepul & IR & 981 8:
PY:

PO IR S 2

I AR T1E &

fred:

I 7O JYUR AR &

ILFS P AR T

1. only conclusion Il follows / Wﬁ'@ﬁﬁf Il WW%

2. only conclusion | follows / Had fpy | Wm%

3. neither conclusion | nor conclusion Il follows /qﬁﬁ'ﬁﬂfl ﬁ?qéﬁw Il WW%

4. both conclusion 1 and Il follows / F&hY | 3R 11 gl &WUTW%

Correct Answer :-

« only conclusion Il follows / Had sy || WW%

24) Who is popularly known as 'Little Master’ ? / 'foifcd AR’ & 79 9 J uf¥rg &
1. Sunil Gavaskar / g,:ﬂaw

2. Mohinder Amarnath / IR SFRATY

3. Kapil Dev/ HUd <

4. Gundappa Vishwanath / TSt fay1y

Correct Answer :-

« Sunil Gavaskar / -id A%

25) Find the odd one out: / T& faud JTd Hifom:
3,0,52,8,4,9,6

1.0

2.5

3.9

4.8

Correct Answer :-

e 8



26) Choose the number which is different from others in the group: / 33 &I HT T B Trﬁﬂ'{s’
Ho i o2

43,53, 63,73
1. 63
2.73
3.53

4. 43

Correct Answer :-

« 63

27) Which movie has been screened for the longest span of time in a theatre? / f3dex & Gad
it Tug Saft & e i < fihew weiRia &t 715 82

1. Dilwale Dulhania Le Jaayenge / feeara §@[3|€|| o SR
2. Kuch Kuch Hota Hai / ¥ P& HGIE

3. Kal Ho Na Ho/WﬁqTﬁ

4. Lagaan / ¢7IT4

Correct Answer :-

« Dilwale Dulhania Le Jaayenge / [aaaral gegia o SR

28) The series given below contains a sequence of numbers. Identify the incorrect combination:

/<R 8 T s ¥, TN BT T HH SUTRA §1 T eI TgeIg:
0, 2, 6,12, 20, 30, 44

1.0

2.20

3. 44

4. 12

Correct Answer :-

29) The series given below contains a sequence of numbers. Identify the incorrect combination:
/ R & 7 raan #, s BT US B U &1 TAd TS UgEnae:
(10)



6, 14, 30, 64, 126
1.6

2. 14

3. 126

4. 64

Correct Answer :-

e 64

30) If GREATNESSis coded HQFZUMFRT, then how is GOODNESS coded? | Tfe¢ GREATNESS &1
HQFZUMFRT ®If&d forar STt €, 91 GOODNESS &) 9 Hifsd forar s

1. JMOERTS
2. FZHQFRT
3. HNPCODTR

4. MOQDPES

Correct Answer :-

e HNPCODTR

31) If CANCELS is coded CLECNAS, then how is FASHION coded? ? / ufe CANCELS B CLECNAS
A Fifed far oIran 8, 9t FASHION &1 $ ifed forar SRvm?

1. FOIHSAN
2. FOISHAN
3. FIOHSAN

4. FIOSAHN

Correct Answer :-
e FOIHSAN

32) In throwing of two dice, the probability of getting an even sum is / Z‘?ftl'l'\& Th IRV R, é’hﬁ H M a1
R BT IR 9 B @1 wiRiear e g

l
1.‘4

(11)



b [

2.
1
=y
o)
3.
1
6
4,
Correct Answer :-
2

33) In a certain code /i eb eep means roses are blue, kis eeh means red flowers and eep tim eeh
means flowers are vegetables.
Then how is vegetables are red flowers coded?

JAGECIE) CAERYIL | ﬁ, li eb eep 1 31 roses are blue; kis eeh 1 3 red flowers YT eep tim eeh
&1 3 flowers are Vegetablesﬁ?ﬂ gl

@ vegetables are red flowers & $A Hifed fpar smem?
1. li kis tim eeh

2. timeeh li eep

3. kis eep eb hee

4. eep kis tim eeh

Correct Answer :-

« eep kis tim eeh

34) In a certain code language, ib ein eip means These great actors, ein tab kilmeans These fine
songs, and eip kil lot means Her great songs. Which is the word for actorsin that code
language? /Tdh W@ IS YT H, ib ein eip &1 3 These great actors; ein tab kil 1 31 ¥ These
fine songs IAUT eip kil lot T 3 +f Her great sangsEﬁ?IT % 19 PIs U H actors & ﬁl’l'{ g v &1

sTHTd fopar T 82
1. eip

2.ib

3. ein

4. kil

Correct Answer :-
(12)



35) 104th Session of the Indian Science Congress was held in / HRJ fagT S1919 &1 1047 97
o ST geim Tl

1. Mysore / fmg

2. Jabalpur / SIdelgX
3. Tirupati / fa=ufd

4, New Delhi / 8 faeait

Correct Answer :-

 Tirupati/ faeafa
36) Who is the National Security Advisor of India? / HRd T I YR&T HATGPR B 52
1. Amitabh Kant / 3{fHdTH Sid

2. S Jaishankar / TF SIORIHR

3. Pradeep Kumar Sinha / U&Id $AR Rg]
4. Ajit Kumar Doval / 3fSiid PHR Slad
Correct Answer :-

e Ajit Kumar Doval / 3id PHR Siad

37) Select the option that is true about the Statements and Conclusions given:
Statements:

All teasers are puzzles

All puzzles are ticklers

Conclusions:

I. All teasers are ticklers
II. All ticklers are teasers

| 39 fapeu &1 9= P Sife e e wy=T v el & 9 & 981 @:
DY:
Tt SR uwra §

I yoTa fepeR &

e

(13)



I 9t o ReeR &
I ReeR R &

1. only conclusion Il follows / Had e | STTORUT pRdl

2. only conclusion | follows / FHad sy | GIER:ITUTWT%

3. neither conclusion | nor conclusion Il follows /qﬁﬁwﬁfl Gﬁquﬁﬁwﬁf Il GIWW%
4. both conclusion I and Il follows /ﬁ'@rﬁfl 3R I Z‘ﬁ:ﬁ WW%

Correct Answer :-
« only conclusion | follows / Wﬁ@&l G‘IWWT%

38) Select the option that is true about the Statements and Conclusions given:

Statements:
Some stones are buns
All stones are clocks

Conclusions:
1. Some buns are clocks
I1. Some clocks are buns

| 99 fdeu &1 99 Sifee wiifes e U SU=T ik syl & Ir & 98 8:
DYH:

PO URR UGS

I TR g §

frep:
I. $ U9 g3t §
II. $© ISIUE§

1. only conclusion 1l follows / Had sy ) WW%

2. only conclusion I follows / $Had FpY | G@TUTWT%

3. neither conclusion | nor conclusion Il follows /:féﬂ%f@b_@fl ﬁ?qﬁﬁm Il WW%
4, both conclusion | and Il follows /ﬁ'ﬁaﬁﬁfl GﬁT ] ?‘ﬁ:ﬁ WW%

Correct Answer :-

¢ both conclusion | and |l follows /ﬁmﬂfl S‘ﬁT Il C':I"I\I STFORUI B %

39) Bhimbetka caves are famous for its / WiraesT 'ﬂ'q?l'q 3'\“@'7 ﬁu Dﬁl@: %'I
1. Tiger parks / CISTR qrehi

(14)



2. Cave art / [T d el
3. Rock paintings / BISAEE]]

4. Sculptures / 11%&1

Correct Answer :-

» Rock paintings / BNAEE]

40)

Select the option that is true about the Statements and Conclusions given:

Statements:
All chalks are boroughs
Some boroughs are cameras

Conclusions:
I. Some boroughs are chalks
I1. Some cameras are chalks

/ 39 o &1 9= P Sifer Ry e Y= 3R fAtwul & IR & I8 8:
DY:

aft ofe R &

PO R PRIE

e

L PO R AP &

II. $ SR AP §

1. only conclusion Il follows / Wﬁ'&'ﬁﬁf ] WW%

2. only conclusion | follows / PHad Y | WW%

3. neither conclusion | nor conclusion |l follows /:Té)fﬁwsfl Gﬁ'\"qﬁﬁw Il GWUTW%

4. both conclusion | and Il follows /ﬁ'ﬁh_ﬁfl 3R 11 SR HId %

Correct Answer :-

« only conclusion | follows / Fad ey | WW%

Topic:- Mental Ability and Mental Aptitude

1)

(15)



If the following two squares shown below overlap, which one of the following opiions

is formed? / afg @ g o Ffdcaag g €, of ea F ¥ &ia a1 o6 TFeq aadT &7

W

2) A square floor of dimension 12 m % 12 m is to be covered by planks of 2 m x 4 m

dimension. How many such planks will be needed to cover the floor? / 12 #Hel x 12

HIeT A & TGN B B 2 ACL x 4 Fed & d&dt § ATaled [l o &1 B &
Healled & & Tl U fohdel d&dl & Ardedsdr g

1. 16
(16)



2. 12
3. 18

4. 20

Correct Answer :-

« 18

3) i
In the sequence shown below, which figure comes nexi? / ==l &3 IR &a #, TRl

HIGA Bl T 3AEr?

i| [ "h"lg"\ ’.‘fﬁ. ?

C

Correct Answer :-

(17)



4) 3 3 et Pt e 2
Which of the following is between2 and;? / % HT % & dg FEafeiad & & ®id 57
29
35
1.
E
18
20
3.
43
55
4,

Correct Answer :-

43
55
5 _ _ _ _ 711 13
Find the fracitions [with denominators 336] which are equal to 3 ' and %
Arrange them in an ascending order. / T&leal &I AT H (336 §¢ & G =T & §’ 1—11
13 : : : -
ESIEs %'&:W%l Seg AR & & euaterd &Y
B 17
56 21 '8
1.
7 13 11
,R_ !T
5. 8§ 56 1

(18)



Ly | —
lo N W
ool -

3.
4. None of the above / SIRIGd H I ﬁ_ﬁc 7‘|§[

Correct Answer :-

13 11

-
6 '21°8%

6) Out of the Rs. 642 he had at the beginning of the day, Tilak has spent Rs. 234 on buying books and Rs.
162 on stationery. How much money did he spend on food, if he had Rs.100 left at the end of the day?/ ﬁ?%
TR ¥ fIe® & U 642 TU A FOrH T STA 234 =041 &) Y| & Wled # @ a1 3R 162
WﬁmwwMI g 31 & 3fd # IS U 100 YA 94 & df S HieA W fbet
(E':RTQT 0

1. Rs. 200/ 200 ST
2. Rs. 164/ 164 3T
3.Rs. 116/ 116 S0

4, Rs. 146 / 146 39

Correct Answer :-

« Rs. 146/ 146 398

7) A man left for city A to city B at 9:00 a.m. He traveled at the speed of 80 kmph. If the total distance from
city A to city B is 380 km, then at what time did he reach city B? / b YU R[gR A T QWS B & ﬁl'l'{ UTd:
9.00 It framerar 8 1 98 80 ol ufay HeT &1 are & I Ha1 8 1 afe 8T A A WS B It A g3l 380
it 2, 9t a5 fovy W 2rew B H ugwaT 87

1. 1.30 p.m.
2. 2.00 p.m.
3.2.15 p.m.

4. 1.45 p.m.

Correct Answer :-

8) After replacing an old member with a new one, it was found that the average age of five members of a
club is the same as it was three years ago. What is the difference between the ages of the new member and

(19)



the replaced one?/gﬂﬁﬂmaﬁﬂqﬁuﬁwﬁﬁmﬁmwmm%%m%mﬂﬂaﬁaﬁ
meﬁ:ammgwmmﬁ%wmﬁm?ﬂl Y T 3R faATia Te & 3 &
DT 3R T §?

1. 20 years /20 3§
2. 15 years / 15 98
3.2years /2 ay

4. 5 years /SEI'Ef

Correct Answer :-

e 15years / 15 9§

9) Total of the ages of A, B and C at present is 90 years. Ten years ago, the ratio of their ages was 1: 2: 3.

What is the age of C atpresent?/aﬁqﬁﬁA,BGﬁ?CHﬁﬁm%ﬂ%I 10a'cftrg.'ﬁ,mﬁan‘g$r
SUT 1: 2: 3 4TI T H € B ST AT 82

1. 40
2.25
3. 60

4. 30

Correct Answer :-

10) Value of 3550/ 0.05 is: / 3550 / 0.55 T HI &:
1. 72100
2. 71100
3,75500

4. 71000

Correct Answer :-
e 71000

11) If 21 sheep consume fodder as much as 22 cows do; then, how many sheep will eat as much fodder as

132 cows? / TS 21 WS I &1 IR BT WU Bl & 1a=1 i 22 g =<l §; a9 fpa- ¥ Ia9 IR &
TR o i 132 T @t 81

1. 143

(20)



2. 126
3. 66

4. 134

Correct Answer :-

« 126

12) 3 times the age of Seema is 11 times the age of Reema. After 15 years, the ages of Reema and Seema will
be in the Ratio of 1:3. Find the present age of Reema. / JIHT &t SITY T 3 T[T, RiE 1] SIY T 11 '{FIT%I 15
af gyTa, ST 3R WAT B ST HT SFUT 1:3 T | HAT B} A R 7T B

1. 50
2.55
3.45

4. 60

Correct Answer :-

13) In a cricket club of 16 players, 12 players can do batting, and 7 players can do bowling. How many all

rounders are there in the club? /WWW% 16 @Fﬂ%ﬁﬁ'\ﬁ, 12 @mﬁaﬁmﬁ'ﬂwm%&ﬁ?
7 fEaTS! Tigarsht % o &1 Fad # frdn sggd! st oifa Ikdsd) 32

1.4
2.2
3.7

4.3

Correct Answer :-

14) The sum of the product of largest 4-digit and smallest 5-digit number and 100 is: / 4 B Iad a@
=T 3MR 5 3P TIQ B! V=T F TUHEES 3R 100 HT TN F71 32

1. 99900000
2. 9990000
3. 9999100

4. 99990100
(21)



Correct Answer :-

« 99990100

ol ! h
i"v " !l 'l,‘ ; F R
iﬂ"l |I o JIH “‘L Il' )
. - 1_’v N
i 1

i K
4, A
N/
1 Vo
i
2 d )

16) If 4/5 of a metre cloth costs Rs. 12, what will be the cost of 3/5 of a metre? /”q'% 4/5 Hiex ao‘q% LIk )
12 U § 41 3/5 Wex FUS 1 g4 fHa=m grm?

(22)



1. 16
2. 18
3.15

4.9

Correct Answer :-

«9

17) Ten years ago, P was half of Q in age. If the ratio of their present ages is 3:4, what will be the total of
their present ages? / 10 T8 Ug® P, Q B 3T T SMTYT UT| Al ITHT TAHT 3TY BT STUTd 3:4 § A IADI
T 3R T T T g2

1.34
2.45
3.25

4. 35

Correct Answer :-

18) Ten men earn Rs.200 each per day. Find the average money earned per day by the 10 men when the

money earned per day is doubled for everyone. / 10 Wmﬁ:{ 200 mmm%l 10 W@'RT
ufa fe1 eifSfa emf &1 oitvra g1a &%, wrafes ufafem sifvla emafr ol & e gt 81

1. Rs.440 / 440 34T
2. Rs.450 / 450 ST
3. Rs.400 /400 SUY

4,Rs.390 /390 3UY

Correct Answer :-

« Rs.400 /400 30T

19) The speed of a train is 54 kmph excluding its halting time. If we include its halts, and the

speed is 45 kmph, then for how many minutes does the train stop per hour? / sy 9wg &t

BIsH ¥d o1 A1a 54 5 vl "er 1 afe 59 39% sl & nfire #vd § oik °1a 45 fit ufa ger g
@ ufd deT fohaq e Ya Fodl 82

1. 11 min/ 11 fAe

2. 5 mins /5 TfFeC
(23)



3. 10 min/ 10 e
4. 9 min / 9 THFTE

Correct Answer :-

« 10min/ 10 f87e

20) How many kilograms of dry fruit can be obtained from 170 kg of fresh fruit, when fresh fruit
contain 70 % water, and the dry ones 15 % water? / 170 {1 a9 wa J fa- feur g@ wa ure
fo5d oI 9 d § Safe a9l Ba ° 70% U g SR G@ Wl § 15% U B

1. 60 kg / 60 fam
2. 50 kg / 50 fobu
3. 70 kg / 70 fabumr

4. 100 kg / 100 fopum

Correct Answer :-

.« 60kg/ 60 B

21) A and B can do a piece of work in 30 days, while B and C can do the same in 24 days and C
and A in 20 days. They all work together for 12 days when A and B decide to leave. How many
more days will C take to complete the work? / A 3R B T&% &1 @1 30 fed & [T &% T €, 9af® B
3R C I 24 AT & T HR UHd §, T C 3R A I 20 &1 § [T % T €1 9 Ot vy 12 =t
TP ST HYd § 3D 916 A 3R B P &1 OIS ¢d &1 A9 BT &) JHIE H1 & fore ¢ &) fovam ez faa
T2

Sgdays / 82 GG
' 7

Sédays ! S% fe=t
7 7

Sidays ! Siiﬁﬂ
! !

82days / 82 faa
! !
4,

Correct Answer :-

(24)



22) Sunil started a business investing Rs. 5,000. After three months, Anil joined him with a
capital of Rs. 8,000. At the end of the year, they made a profit of Rs. 7,700. What should Anil's
share be in it? / G-I 9 5,000 U HT {1931 HR Th AT YR fHam1 @ 989 U4, 8,000 T1
3t Uoil & A1y Sifvra Iud e 8wl avf & ofd ®, 3611 7,700 U HT A1H FURI SR SAfa BT
o &1 g1 e w?

1. Rs. 3,300 / 3,300 S04
2. Rs. 4,200 / 4,200 394
3.Rs. 3,500 / 3,500 ¥Y

4. Rs. 4,400 / 4,400 3UY

Correct Answer :-
« Rs. 4,200 /4,200 300

23) A dealer will get Rs. 470 more if, instead of selling a table at a loss of 10 %, it is sold at a
gain of 10 %. Find the cost price of the table. / €% fashar 470 $Ud 34w yrwd s, afe ol oI
10% @1 B TR 999 F I W I 10% & T1H W 997 STaT § | A BT 69 oo J1d B

1. Rs. 4350
2. Rs. 2350
3. Rs. 1350

4. Rs. 3350

Correct Answer :-
e« Rs. 2350

24) If the largest 3 digit number is subtracted from smallest 5 digit number, then the balance

is: /¢ 3 SIPTY Ua TSI WST Y 5 3P 1Y AaH DI JSI F I St &, af 9 3
1. 9,001

2.1

3. 901

4. 9,000

Correct Answer :-

(25)



« 9,001

25) A team has won 14 matches and lost 4 of them. If these matches represent 60 % of the
total number of matches to be played, how many more matches should the team win, in order to

have a record of 70 % win? / Waﬁef 14ﬁircﬂ?raﬁ'\r43ﬁ| uﬁﬁﬁa@ﬁm’igmﬁ%ﬁm 60%
TeflRid #vd & al ga &I 3R fraq 3iftre ar Siiam o1fRe o™ fb 70% Sita &1 Rais 8t w2

1.4
2.6
3.7

4.5

Correct Answer :-

26) Which one of the following four addresses is NOT EXACTLY same as the one given below? / IEE] ﬁ'a' ™

IR Ual & ¥ R 33 1 ud & St 99 B9 91 v T8 22

Dr. Axel
Falkenstr. 5,

Georgsmarienhutte, 49124

(i) Dr. Axel
Falkenstr. 5,

Georgsmarienhutte, 49124

(ii) Dr. Axel
Falkenstr. 5,

Georgsmarienhutte, 49124

(iii) Dr. Axel
Falkenxtr. 5,

Georgsmarienhutte, 49124

(26)



(iv) Dr. Axel
Falkenstr. 5,
Georgsmarienhutte, 49124

1. il

27) Find the average. / e e |
69, 72, 75, 78, 81 & 87

1.77

2.76

3.75

4.71

Correct Answer :-

28) The series given below contains a sequence of alphabets and numbers. Identify the incorrect combination: /

TR G 7E JEar ¥, 2eri 3R el @1 v HH Fifd &1 Tad Yute ugane:
i.ttijk3102kjitt

ii.tijk3102Kjitt

iii.ttijk3102kjitt

iv.ttijk3102Kjiit

1. il

Correct Answer :-

(27)



29) A train of length 140 m running at a speed of 30 m/s crosses another train of length 160 m
running in opposite direction in 6 sec. Find the speed of the other train. / 140 Hex E'WTQF Ry
¥ it 7% 30 Wex/APvs o 91a A T ) 7, TP 3= faudia fa=m o 7ar 78t 160 wex il ot Ya &)
6 ABUS T IR Hell 81 GOl I B AT B J1d B |

1. 30 m/s
2. 10 m/s
3. 40 m/s

4. 20 m/s

Correct Answer :-
e 20m/s

30) A student multiplied a number by 3/5 instead of 5/3. What is the percentage error in the
calculation? / T® faendi 3 T W@ $1 5/3 & RIF W 3/5 W YOG B &a11 10T | Fie &7 ufa=ra
71 8?

1. 34%
2. 44%
3. 54%

4. 64%

Correct Answer :-

e 64%

Topic:- Science and Simple Arithmetic

Find the square of(ﬁ-%)_ / (:—‘1—") I g3t AT L]

X 47
st T1
1sy= x=
1.
x2 4972
16‘;‘: X
2.
x2 4"
Rl
ley= x=
3.

(28)



2) ifx= (E}'s X (é)—*, then the value of x%is:/ ofg x = (E}'j X (;)3 ¢, ar x7 &1 J g

5v10
. ()

(e

2.

(-

3.

REs

Correct Answer :-

( 2y
. 7
3) .
In the given figure, | [| m and t is the transversal. Find the value of 'x". / TeT T ICEl 93[1
1| m 37T t 3ETSET Bl 'x' F AR AT B
;fj
Ax+5 / e
5%-20
i /r T m
1. 38
2.25
3. 15

(29)



4. 32

Correct Answer ;-

e 25

4)
In the given figure, 'O' is the center of a circle. If £A0B = 60 and £BDC = 105", then 2£DBC = JRuIaw A7 A

dcd & shed '0' §1 TG £A0B =603k £BDC=105"§, dT«DBC=___|

[¢]
3.55
o]
4, 35
Correct Answer :-

[}

« 45

5)
In a trapezium ABCD, AB | DC and #B=120°".If 2D = 5 of 2B, then the measure of zZA=_ . / Weh HHcld ABCD

#, AB||DCTAT 2B =120 §] AR 2D, £BH - & T A F &1 gom:

1,85
(o]
2.95
(o}
3. 100
o
4. 80

Correct Answer :-

(30)



The pie chart represents the expenditure of a person on different items. The central angle of each sectoris

given in the figure. Study the pie chart and find the percentage expenditure on food. / q‘ré’ e T
cferd ganT fafdtest aegail W fore Aoy arer s &t foreiid axar 81 = & 93
Bea@s T deald SHI0T 24T 717 §1 915 ¢ &1 375090 o 3R el W & Ay
el oI & 9iderd A |

18°
*
T OFood / et
0
36 URent / TohamAT
| 360 “\l‘ 14-40 “‘
| Hclothing / sF9sT
126° Education / T&T&T
— Omiscellaneous / 8T
1. 45%
2. 40%
3.32%
4. 34%

Correct Answer :-

e 40%

7) Find the least number which must be added to 3158 to make it a perfect square. /WWW@HW
P S 3158 B QUf a7 9T & ToIE IH SISt I A1ie |

1.22
2. 87
3.45

4. 91

Correct Answer :-

8) An article was sold at a gain of 14%. Had it been sold for Rs. 270 more, the gain would have been 20%.
The cost price of the article is: / TP T¥g 14% & ATH W o0 75| TS g 270 TUY SAfUF HI o< 75 Bl df a1y
20% BraT| a%g T aNTd 4 &

1. Rs. 3200 /3200 30

(31)



2. Rs. 4500 / 4500 30
3. Rs. 4800 / 4800 3T

4. Rs. 3900 / 3900 3T

Correct Answer :-

« Rs. 4500 /4500 30

9) Most botanical gardens also have banks for: / Wmmﬁmﬁ%wgﬁ? ﬂﬂ%%
1. Manure and fertilizers / @I 3R IdREP

2. Agricultural implements /?ﬁf 3SR

3. Seeds / Slol

4. Manures / 9Ig

Correct Answer :-

« Seeds/dol

10) If the diagonal of a rhombus is 160cm and its side is 82cm, then the measure of the other diagonal is: /

gfe T waagys &1 fawof 160 At 7 3R st Yo 82 A, B, @t g fawof it arg ghm:
1. 36 cm / 36 G,
2.24 cm /24 I,
3. 42 cm / 42 .

4,18 cm/ 18 T,

Correct Answer :-

. 36 cm/ 3694

11) The surface area (in cm2) of a cube whose edge is 1.3cm is: / b ¥ BT YtS aawd (afh?nﬁ 'el) =
g ot Bk 1.3 /. B

1. 18.8
2.12.18
3.10.14

4.214

Correct Answer :-

(32)



« 10.14

12) The present population of a village is 10000. If it increases at the rate of 5% per annum, then its
population after 2 years will be: / T T1id ®1 T STHHRSAT 10000 B 1 i TE 5% @ 1o <3 | Tl €, 1 2
T §1¢ SHD! SHEST §RM:

1. 12100
2.12250
3. 11025

4. 11750

Correct Answer :-

e 11025

13) A flooring tile has the shape of a parallelogram whose base is 36cm and its corresponding height is
24cm. How many such tiles would be required to cover a floor of area 5616 m>? / Uh BRI BI GIEGED]

TR THIAR TGUS ST 7 Rt MU 36 Q). 8 iR TS| TIa S8 24 A, 21 5616 77 .
QAP B B Bl TpA P T fba eTgal P STawgedr g2

1. 50000
2. 65000
3. 45000

4. 60000

Correct Answer :-

e 65000

14) Three numbers are in the ratio 1 : 2 : 3. If the sum of their cubes is 972, then the largest of the three
numbers is: / ATV 1 : 2 : 3 F JUTd A &1 T 39F T B1ART 972 &, &) Y Tewmaii & qad 9t T=m
g

1.8
2.6
3.7

4.9

Correct Answer :-



15) A number consists of two digits whose sum is 6. If 18 is added to the number, its digits
are reversed, then the tens digit of the original number is : / T TSI &l 3@l @t gt %
T T 6 81 afe 59 TB | 18 ST 94T B, O SHS 3P I<hIid 8l 9iid 8, @ Ja
BT B 4BT8 B H&AT gRM:

1.3

2.8

3.4

4.2

Correct Answer :-

16) Find the dividend if the divisor, quotient and the remainder are (7x - 4), (2x + 3) and -7,
respectively. / Tf¢ TSI, HRTH S TUT AUHE HHI: (7x - 4), (2x + 3) dUT -7 §, A1 HIST
I B

1. 14x% - 15x— 19

2. 14x% + 13x— 19

3. 14x2-13x - 19

4, 14x% + 15x - 19

Correct Answer :-
e 14x%+13x-19

17) Which one of the following has a long-term effect on the health of an individual? / Y wfed & @Ry

R 1 ¥ fraer S ies guma g e?
1. Common cold / FTHY S&H

2. Kidney ailment / §ab INT

3. Chicken pox / BT AR

4. Cholera / %Trﬂ

Correct Answer :-

« Kidney ailment / G INT



18) Which of the following is NOT a part of light microscope? /= O 9 B a1 U Re E&ﬂ?{?ﬁ Cal
e =gt g2

1. Object holder / I Blea

2. Light source / UDIR] DI ard
3. Two lenses / &l A=

4, Hand lens /%%' ?F\‘:T

Correct Answer :-

e Hand lens/ %% e

19) Which of the following cells are renewed every 120 days? / fEddsa @ ?ﬁm TP 120 f&T
# T gt ot 82

1. Red blood cells / T Yo BHIOTHTT
2. White blood cells / Tad Idd HIOIBTT
3. Platelets / ¢ U@WQ

4. Blood / Yad

Correct Answer :-

« Red blood cells / AT Igd HIVHTT

20) To keep our eyes fit, our diet should include: / 3T 3TE] B W @A %ﬁTE, Sﬁ ATeR i | 3'\%
Afeferd ®e-T 91fe:

1. Vitamin D / faeTi# St
2. Vitamin K / fde1fa &
3. Vitamin C / faeTii= 9t
4. Vitamin A / faeifi= q

Correct Answer :-

« Vitamin A / deifA T

21) Thousands of mirrors or curved metals are used to focus solar energy to a small point to make it very

hot. This happens in: / TR Sl B AATUS TH T F 1T T Bie fdg W @RI gUor a1 a9 argaii &
ST gRT Hfxd far Sirar 71 7 S04 ian o:

1. Solar furnace / 4R ug"r
2. Solar heater/@? é'aq

(35)



3. Solar cells / IR ¥d
4. Solar battery / IR ot

Correct Answer :-

« Solar furnace / IR q-Ig’of

22) Mark the odd one out. / fawH o ﬁl’%ﬁ' aﬂﬁm
1. Seahorse / ﬂ'ﬂff °rgr

2. Flying fish / TSI A&t

3. Jelly fish / SR

4. Rohu/ﬁ_g'

Correct Answer :-

o Jelly fish / ST

23) At the tip of root and shoot, the tissue present is: / SIS 3T RIE & M W Ul Sas %
1. Ground tissue / HYU-&Hddh

2. Epidermal tissue / I Sae

3. Meristematic tissue / [dHSAId® B

4, Vascular tissue / aT%W $Hhdh

Correct Answer :-

« Meristematic tissue / [AHId® SdPp

24) The instrument used to measure the current flowing through a circuit is called ./ aRTY J g

Yaifed 814 aTelt YRTF AN A YGHR B A TS HeToal ol
1. Galvanometer / Ted=IHTeR

2. Voltammeter / AIeCHIC

3. Voltmeter / dieeHIeR

4, Ammeter / Qﬂ X

Correct Answer :-

e« Ammeter/ Qﬂ X



25) Two of the components of ecosystem mentioned below are abiotic. Identify them. / =

Sfcafaa RfRAfa® 93 & & g Seiidia §1 3= ug=n=g

Inorganic nutrients, herbivores, decomposers, climatic factors, forests / 3oIg Yiv® ddd, ngm,
TICHRI, STAIA BRP, I

1. Decomposers and inorganic nutrients / 3TECHRT 3R 36id TNG I
2. Decomposers and climatic factors / 3[TICHR] 3R SAdIG PRB
3. Inorganic nutrients and forests / 3 TIN& dcd 3R

4. Climatic factors and inorganic nutrients / TAdIdt PRSP 3R 3o UV dd

Correct Answer :-

« Climatic factors and inorganic nutrients / STAIdTIa! HRE 3R 30T TN T

26) Iron when red hot reacts with steam to form: / dId T fRfa 'E[', ?ﬁ's’ g & g1y gfafsear &3 g
CEIGIHECE

1. Tron hydroxide and hydrogen gas / TeT STZSIRIZS 3R BIESIOH 19
2. Iron (IL,III) oxide and hydrogen gas / IR (11,11I1) S 3R 6]5\"5: o T
3. Iron (II,III) oxide and water / 8T (IL,II1) SIS 3R UFY

4. Iron hydroxide and water [ dIgT BIRSINILS 3R U

Correct Answer -

« TIron (II,III) oxide and hydrogen gas / I (11,111) IS 3R EE@GF[ T

27) Identify the plant that does not yield fibre. / 3 U PI AT St I IUH 51 BTl 5
1. Palm / dIg

2. Coconut / Tiad

3. Hemp / HITT

4. Cotton / U

Correct Answer :-

e Palm /S

28) Metal compound A reacts with dilute hydrochloric acid to produce effervescence, the gas evolved
during the reaction extinguishes a burning candle. The gas is: / 9Tq Oiffre A gaggd 3ud P & fag g
BIESIFAING o & |1y AfUfhar Hvar 21 ifufthar & SR IUa 719 Us wiafed MHaw & g3 St 81 39
&

1. Carbon dioxide /»W‘G&T Tﬂgm
(37)



2. Hydrogen / EIQSI\_SFI
3. Oxygen / SeRitor

4, Nitrogen / géAIGFI

Correct Answer :-

« Carbon dioxide / BT SEATRIES

29) Goldsmith blow the outermost zone of a flame with a metallic pipe for melting gold and silver
because it is: / T YT Fidt Bt fUga™ & T FIR TP Uifa® Tl F T sa@ar & aead 87 a& S0 Hd
T wifPugaare:

1. Least hot / W"ﬂ{f
2. Hottest / 3 TH
3. Cold / &&T

4. Moderately hot / HTURUT pied

Correct Answer :-

e Hottest / i TH

30) The major air pollutant produced when coal is burnt in thermal power station is: / SHIY T Hx

H B B e IR IdTied BT a1g Ugu® gidl o
1. Methane / B9
2. Sulphur dioxide / JehR SIZ3HRIZS

3. Carbon dioxide / PTe SIS3RIES
4, Ozone / GhTrn:f

Correct Answer :-

« Sulphur dioxide / TehR SIS3H RIS

(38)



